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Maths:

. What is the smallest 5-digit number?

a) 99999 b) 10000
c) 11111 d) 10001
Answer: b) 10000

. The place value of 5in 35,672 is:

a) 50 b) 500
¢) 5000 d) 50000
Answer: c) 5000

. Which of these is a multiple of both 4 and 6?

a) 12 b) 16
c) 18 d) 20
Answer: a) 12

. What is 4532 rounded to the nearest 1007

a) 4500 b) 4600
c) 4550 d) 4000
Answer: a) 4500

. The LCM of 8 and 12 is:

a) 24 b) 36
c) 48 d) 12
Answer: a) 24

. Whatis % of 60?

a) 30 b) 36
c) 40 d) 45
Answer: b) 36

. Which fraction is equivalent to 4/8?
a) % b) 1/4

c)2/3 d) 3/4

Answer: a) %

Find the perimeter of a square with side 7 cm.
a)14 cm b) 21 cm

c) 28 cm d) 49 cm

Answer: c) 28 cm

. The Roman numeral for 49 is:

a) XLV b) XLIX
c) XLIV d) IL
Answer: b) XLIX

. If 7 pencils cost X84, what is the cost of 1 pencil?
a) 210 b) %11
c) 12 d) %13
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Answer: c) X12

Which number is divisible by 9?
a) 453 b) 678

c) 729 d) 845
Answer: c) 729

3.25+2.75="

a)6.0 b) 5.75

c) 6.25 d) 5.5

Answer: a) 6.0

Which angle measures exactly 90°?
a) Acute angle b) Obtuse angle
c) Right angle d) Straight angle

Answer: c) Right angle

Which is greater: % or %?
a) % b) %
c¢) Both equal d) Cannot say

Answer: a) %

How many faces does a cube have?
a)4 b) 5
c)6 d)8

Answer: c) 6

How many diagonals does a pentagon have?

a)3 b) 4

c)5 d)2

Answer: c) 5

Find the area of a rectangle: length = 12 cm, breadth =8 cm.
a) 20 cm? b) 48 cm?

c) 96 cm? d) 80 cm?

Answer: ¢) 96 cm?

What is 25% of 2007
a) 25 b) 40
c) 50 d) 75

Answer: c) 50

The predecessor of 10,000 is:
a) 9999 b) 9998
c) 10001 d) 9990

Answer: a) 9999

Which number is a prime number?
a) 49 b) 51
c) 53 d) 55

Answer: c) 53

Simplify: 5 x (6 + 4)
a) 30 b) 40
c) 50 d) 60

Answer: c) 50
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What is the sum of the angles in a triangle?
a) 90° b) 180°
c) 270° d) 360°

Answer: b) 180°

The number 5000 in Roman numerals is:
a)Vv b) M

c) V (V with a bar) d)D

Answer: c) V

Find HCF of 18 and 24.

a)2 b) 3

c)6 d) 12

Answer: c) 6

If perimeter of a square is 36 cm, what is the length of one side?
a)6cm b)9 cm
c)12cm d) 18 cm

Answer: b) 9 cm

Convert 2.5 km into meters.
a)250m b) 2500 m
¢) 25000 m d)25m

Answer: b) 2500 m

A number divisible by both 2 and 5 must end with:
a)o b) 2

c)5 d) 10

Answer: a) 0

1 kg ="7?grams

a) 10 b) 100

c) 1000 d) 10000

Answer: c) 1000

A triangle with all sides equal is called:
a) Scalene b) Isosceles

c) Equilateral d) Right-angled
Answer: c) Equilateral

% of 90 is:

a) 30 b) 45

c) 50 d) 60

Answer: d) 60




31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

The sum of the first five odd numbers is:
a) 15 b) 25
c)9 d) 10

Answer: a) 25

7 hundreds + 5 tens + 8 ones = ?
a) 758 b) 785
c) 875 d) 857

Answer: a) 758

Which of the following is a factor of 367
a)5 b) 6
c)7 d)9
Answer: b) 6

A cube has how many edges?

a)6 b) 8
c)12 d) 16
Answer: c) 12

0.5x0.5="7

a)0.1 b) 0.25
c) 0.05 d) 0.75

Answer: b) 0.25

If 1 litre = 1000 ml, how many ml are there in 3.5 litres?
a) 3000 ml b) 3500 ml
c) 1500 ml d) 350 ml

Answer: b) 3500 ml

Which is the greatest 4-digit number?
a) 9999 b) 9000
c) 9990 d) 10000

Answer: a) 9999

If48 +4=12,then480+4="?

a) 12 b) 120
c) 1200 d) 48
Answer: b) 120

How many vertices does a cube have?
a)d b) 6

c)8 d) 12
Answer: c) 8

What is the value of (100 — 36) + 4?

a) 16 b) 12
)14 d) 20

Answer: c) 16




.2/7+3/7=7

a)5/14 b) 5/7
c1 d)7/7
Answer: b) 5/7

. A leap year has how many days?
a) 364 b) 365
c) 366 d) 367
Answer: c) 366

. Which of these is a proper fraction?
a)7/7 b) 8/7
c)7/8 d)9/7
Answer: c) 7/8

. If perimeter of rectangle = 2 x (I + b), find perimeter if I=9 cm, b=6 cm.
a)30cm b) 24 cm

c) 26 cm d)32cm

Answer: a) 30 cm

. Write the Roman numeral for 90.
a) LXXXX b) XC
c)IC d) IX

Answer: b) XC

.1 dozen =7? items

a) 10 b) 12
c) 20 d) 15
Answer: b) 12

. Find HCF of 14 and 21.

a)2 b) 3
)7 d) 14
Answer: c) 7

.34x10=7
a) 3.40 b) 3.04
c)34 d) 340

Answer: c) 34

. Sum of angles in a quadrilateral = ?

a) 180° b) 270°
c) 360° d) 540°
Answer: c) 360°

K+ %=7
a)l b) 2
c)3 d)5
Answer: a) 1

. If 3 pens cost X18, cost of 5 pens =?
a) X28 b) X30
c)X24 d) 236

Answer: b) 30
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% of a kg ="? grams
a)50¢g b) 100 g
c)150g d)250¢g

Answer: d) 250 g

Which is an obtuse angle?

a) 60° b) 90°
c) 120° d) 180°
Answer: c) 120°

Vot V=7

a) % b) %
c1 d) %

Answer: a) %

Which figure has no vertices?
a) Triangle b) Circle
c) Rectangle d) Square

Answer: b) Circle

A quadrilateral has how many diagonals?
a)1l b) 2

c)3 d) 4

Answer: b) 2

1 hour 45 minutes = ? minutes

a) 60 b) 75

c) 90 d) 105

Answer: d) 105

15% of 200 = ?
a) 20 b) 25
¢) 30 d) 35

Answer: c) 30

Perimeter of an equilateral triangle with side 8 cm =?

a) 16 cm b) 24 cm
c)32cm d) 48 cm
Answer: b) 24 cm

How many tens are there in 3407
a) 30 b) 34
c)3 d) 340
Answer: b) 34

35+2.25="

a)5.5 b) 5.75
c) 6.25 d) 6.5

Answer: c) 5.75
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Which of the following is a composite number?
a)5 b) 7

c)9 d)11

Answer: c) 9

4 dozen =? items

a) 40 b) 44

c) 48 d) 52

Answer: c) 48

7 km = ? meters

a) 700 m b) 7000 m
c)70m d) 70000 m
Answer: b) 7000 m

% of 250 =7

a) 20 b) 30

c) 40 d) 50

Answer: d) 50

Find the sum of the first 10 natural numbers.
a) 45 b) 50

¢) 55 d) 60

Answer: c) 55

% of100="7

a) 20 b) 30

c) 40 d) 50

Answer: c) 40

1 metre=?cm

a)10cm b) 100 cm

c) 1000 cm d) 10000 cm
Answer: b) 100 cm

4 kg 500 g =? grams
a)4500 g b) 4005 g
c) 4050 g d) 45000 g

Answer: a) 4500 g

The difference between the largest and smallest 3-digit numbers is:
a) 998 b) 899
c) 990 d) 999

Answer: a) 998

What is the product of the largest 2-digit number and the smallest 2-digit number?

a) 900 b) 990
c) 891 d) 999
Answer: b) 990

72. How many prime numbers are there between 1 and 20?
a)6 b) 7
c)8 d)9

Answer: c) 8
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Science:

Which part of the plant prepares food?

a) Root b) Stem

c) Leaf d) Flower
Answer: c) Leaf

Which of these is not a sense organ?

a) Ear b) Eye

c) Brain d) Nose
Answer: c) Brain

The gas used by plants to make food is:

a) Oxygen b) Nitrogen

c) Carbon dioxide d) Hydrogen
Answer: c) Carbon dioxide

Which is the largest bone in the human body?
a) Skull b) Femur

c) Humerus d) Tibia
Answer: b) Femur

Animals that give birth to young ones are called:
a) Oviparous b) Viviparous
c) Herbivores d) Carnivores
Answer: b) Viviparous

Which of these is not a source of fiber?

a) Cotton b) Silk

c) Jute d) Wool
Answer: d) Wool

The process by which water changes into water vapor is:
a) Condensation b) Evaporation
c) Freezing d) Melting
Answer: b) Evaporation

The organ that pumps blood in the body is:
a) Brain b) Liver

c) Heart d) Lungs
Answer: c) Heart

Which vitamin is obtained from sunlight?

a) Vitamin A b) Vitamin B
c¢) Vitamin C d) Vitamin D
Answer: d) Vitamin D

Which gas do we inhale while breathing?
a) Nitrogen b) Carbon dioxide
c) Oxygen d) Hydrogen

Answer: c) Oxygen
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Which is the hardest substance in the human body?
a) Bone b) Enamel
c) Cartilage d) Nail

Answer: b) Enamel

Which part of the plant absorbs water and minerals?
a) Flower b) Leaf
c) Stem d) Root

Answer: d) Root

Which is a non-renewable source of energy?
a) Sunlight b) Wind
c) Coal d) Water

Answer: c) Coal

Which of these is not a simple machine?
a) Lever b) Pulley
c) Screw d) Engine

Answer: d) Engine

The movement of Earth around the Sun is called:
a) Rotation b) Revolution
c) Orbiting d) Spinning

Answer: b) Revolution

The time taken by Earth to complete one rotation is:
a) 12 hours b) 24 hours
¢) 1 month d) 1 year

Answer: b) 24 hours

The smallest bone in the human body is found in the:
a) Hand b) Foot
c) Ear d) Nose

Answer: c) Ear

Which disease is caused by mosquito bite?
a) Typhoid b) Cholera
c) Malaria d) Tuberculosis

Answer: c¢) Malaria

Which is not an air pollutant?
a) Smoke b) Dust
c) Oxygen d) Carbon monoxide

Answer: c) Oxygen

Which planet is known as the ‘Red Planet’?
a) Earth b) Mars

c) Venus d) Jupiter
Answer: b) Mars
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Which gas is used to fill balloons?
a) Helium b) Hydrogen
c) Nitrogen d) Oxygen

Answer: a) Helium

Which is a carnivorous plant?
a) Cactus b) Venus flytrap
c) Sunflower d) Banyan

Answer: b) Venus flytrap

The main source of energy for Earth is:
a) Moon b) Sun
c) Stars d) Air

Answer: b) Sun

Which part of the digestive system absorbs nutrients?
a) Stomach b) Small intestine
c) Large intestine d) Esophagus

Answer: b) Small intestine

Which of these is a reptile?
a) Frog b) Lizard
c¢) Duck d) Fish

Answer: b) Lizard

Which is an example of a mammal?
a) Whale b) Penguin
c) Crocodile d) Ostrich

Answer: a) Whale

Which type of teeth help in cutting food?
a) Molars b) Premolars
c) Incisors d) Canines

Answer: c) Incisors

The imaginary line that divides Earth into two halves is called:
a) Latitude b) Longitude
c) Equator d) Tropic

Answer: c) Equator

Which of the following is a natural fiber?
a) Nylon b) Polyester
¢) Wool d) Rayon

Answer: c) Wool

Which force pulls objects toward Earth?
a) Friction b) Magnetic
c) Gravity d) Electric

Answer: c) Gravity
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Which planet is known as the “Morning Star”?
a) Mars b) Venus

c) Mercury d) Jupiter
Answer: b) Venus

The part of the eye that controls the amount of light entering is:

a) Retina b) Pupil
c) Iris d) Cornea
Answer: c) Iris

Which is the largest internal organ in the human body?

a) Brain b) Heart
c) Liver d) Lungs
Answer: c) Liver

What is the boiling point of water?
a) 90°C b) 100°C
c) 110°C d) 120°C
Answer: b) 100°C

Which of the following is an omnivore?
a) Cow b) Lion

c) Crow d) Deer
Answer: c) Crow

Which blood cells fight infections?

a) Red blood cells b) White blood cells
c) Platelets d) Plasma

Answer: b) White blood cells

The smallest planet in the solar system is:
a) Mercury b) Mars

c) Venus d) Pluto
Answer: a) Mercury

The organ that removes waste from the blood is:
a) Heart b) Kidney

c) Lungs d) Stomach
Answer: b) Kidney

Which is not a greenhouse gas?

a) Carbon dioxide b) Methane

c) Oxygen d) Nitrous oxide
Answer: c) Oxygen

What do we call animals that eat only plants?

a) Carnivores b) Omnivores

c) Herbivores d) Insectivores
Answer: c) Herbivores

Which metal is liquid at room temperature?

a) Iron b) Mercury

c) Copper d) Zinc

Answer: b) Mercury
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Which vitamin helps in blood clotting?
a) Vitamin A b) Vitamin C
¢) Vitamin D d) Vitamin K
Answer: d) Vitamin K

The movement of water through plants is called:

a) Photosynthesis b) Respiration
c¢) Transpiration d) Circulation
Answer: c) Transpiration

The largest mammal on Earth is:

a) Elephant b) Giraffe

c) Blue whale d) Hippopotamus
Answer: c) Blue whale

Which of these is a sedimentary rock?
a) Marble b) Granite
c) Limestone d) Basalt
Answer: c) Limestone

Which part of the brain controls balance?
a) Cerebrum b) Cerebellum
c) Medulla d) Spinal cord
Answer: b) Cerebellum

The layer of air surrounding Earth is called:
a) Hydrosphere b) Lithosphere
c) Atmosphere d) Biosphere
Answer: c) Atmosphere

Which instrument measures temperature?
a) Thermometer b) Barometer
c) Anemometer d) Hygrometer
Answer: a) Thermometer

Which is not a renewable energy source?
a) Solar b) Wind

c) Coal d) Hydroelectric
Answer: c) Coal

Which disease is caused by lack of Vitamin C?
a) Rickets b) Scurvy

c) Night blindness d) Beriberi
Answer: b) Scurvy

The bones are connected to muscles by:
a) Ligaments b) Tendons
c) Cartilage d) Joints
Answer: b) Tendons
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Which gas is released during photosynthesis?
a) Carbon dioxide b) Nitrogen
c) Oxygen d) Hydrogen

Answer: c) Oxygen

Which part of the plant turns into fruit?
a) Leaf b) Flower
c) Stem d) Root

Answer: b) Flower

The process by which plants lose water is:
a) Evaporation b) Transpiration
c¢) Condensation d) Respiration

Answer: b) Transpiration

Which is the natural satellite of Earth?
a) Sun b) Moon
c) Mars d) Venus

Answer: b) Moon

Which disease affects the lungs?
a) Malaria b) Tuberculosis
c¢) Typhoid d) Jaundice

Answer: b) Tuberculosis

. The measure of how hot or cold something is:
a) Pressure b) Temperature
c) Volume d) Mass

Answer: b) Temperature

The process of breaking down food to release energy is:
a) Digestion b) Respiration
¢) Circulation d) Excretion

Answer: b) Respiration

Which part of the human skeleton protects the brain?
a) Rib cage b) Spine

c) Skull d) Pelvis

Answer: c) Skull

Which is not an insect?
a) Ant b) Spider
c¢) Grasshopper d) Butterfly

Answer: b) Spider

Which of these is a source of protein?
a) Rice b) Wheat
c) Pulses d) Sugar

Answer: c) Pulses
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Which planet has rings around it?
a) Jupiter b) Saturn
c) Mars d) Neptune

Answer: b) Saturn

The process of converting liquid water into gas is called:
a) Melting b) Freezing
c) Evaporation d) Condensation

Answer: c) Evaporation

How many chambers does the human heart have?
a) 2 b) 3
c)4 d)5

Answer: c) 4

Which of these is a unicellular organism?
a) Amoeba b) Earthworm
c) Frog d) Butterfly

Answer: a) Amoeba

The closest planet to the Sun is:
a) Venus b) Mercury
c) Earth d) Mars

Answer: b) Mercury

The green pigment in leaves is called:
a) Chlorophyll b) Xylem
c) Phloem d) Starch

Answer: a) Chlorophyll

The energy stored in food is:
a) Mechanical energy b) Heat energy
¢) Chemical energy d) Sound energy

Answer: c) Chemical energy

Water boils at what temperature in Fahrenheit?
a) 100°F b) 180°F
c) 212°F d) 220°F

Answer: c) 212°F

Which planet is known for having the largest number of moons?
a) Mars b) Jupiter
c) Saturn d) Neptune

Answer: b) Jupiter




English:

Identify the noun in the sentence: “The cat chased the mouse.”
a) chased b) the

c) cat d) chased

Answer: c) cat

Which sentence is written in the past tense?

a) She walks to school every day. b) She walked to school yesterday.
c¢) She will walk to school. d) She is walking to school.
Answer: b) She walked to school yesterday.

Choose the correct plural form of “child.”

a) childs b) children
c) childrens d) childes
Answer: b) children

Which word is an adverb?

a) quickly b) quick

c) quicker d) quickest
Answer: a) quickly

Select the correct synonym for “happy.”

a) sad b) joyful
c) angry d) tired
Answer: b) joyful

»n

Identify the subject in the sentence: “The dog barked loudly.
a) loudly b) barked

c) the d) dog

Answer: d) dog

Choose the correctly punctuated sentence:

a) where are you going b) Where are you going.
¢) Where are you going? d) Where are you going!
Answer: c) Where are you going?

What is the opposite of “brave”?

a) cowardly b) strong
c) bold d) proud
Answer: a) cowardly

Which of these is a proper noun?

a) boy b) girl

¢) India d) country
Answer: c) India



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Choose the correct preposition: “The catis ___ the table.”
a)in b) on

c)at d) by

Answer: b) on

Which sentence uses an exclamation mark correctly?
a) | love chocolate. b) I love chocolate!
c) I love chocolate? d) I love chocolate
Answer: b) | love chocolate!

Pick the sentence in the future tense:

a) He plays football. b) He played football.
c) He is playing football. d) He will play football.
Answer: d) He will play football.

What type of sentence is this: “Open the door.”

a) Interrogative b) Imperative
c¢) Exclamatory d) Declarative
Answer: b) Imperative

Fill in the blank: “She is ___ honest girl.”

a)a b) an

c) the d) no article
Answer: b) an

Which is a collective noun?

a) dog b) team

c) friend d) brother
Answer: b) team

Choose the correct form: “He has ___ his homework.”
a)do b) did

c) done d) doing

Answer: c) done

What is the superlative form of “good”?

a) gooder b) better

c) best d) more good
Answer: c) best

Pick the correct spelling:

a) receive b) receive
c) receive d) receve
Answer: b) receive

Which is an interrogative sentence?

a) Where did you go? b) | went to school.
c) Close the door. d) Oh no!

Answer: a) Where did you go?

Which word is an adjective?

a) quickly b) tall

c) run d) happily
Answer: b) tall

Find the antonym of “early.”
a) quick b) late
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c) fast d) soon
Answer: b) late

What is the verb in the sentence: “She paints beautifully.”
a) she b) paints

c) beautifully d) none

Answer: b) paints

Choose the correct homophone: “The wind ___ the leaves.”
a) blew b) blue
c) bloo d) blewe

Answer: a) blew

Pick the correct pronoun: “___is my book.”

a) Them b) This

c) These d) Those

Answer: b) This

Identify the correct conjunction: “l was tired ___ | kept working.”
a) but b) because

c) so d) or

Answer: a) but

Which word means “fear of small spaces”?
a) Agoraphobia b) Claustrophobia
c) Hydrophobia d) Acrophobia

Answer: b) Claustrophobia

Choose the word that completes the analogy: Big is to small as tallisto ___
a) wide b) short
c) big d) narrow

Answer: b) short

Which is a synonym for “intelligent”?
a) dumb b) clever
c) slow d) dull

Answer: b) clever

Choose the correct sentence:
a) My mom she is cooking. b) My mom cooking.
¢) My mom is cooking. d) Mom cooking my is.

Answer: c) My mom is cooking.

Identify the helping verb: “She has gone to school.”
a) gone b) she
c)to d) has

Answer: d) has

. Choose the correct article: “l saw elephant at the zoo.”

a)a b) an
c) the d) no article
Answer: b) an

. Identify the type of noun: “Honesty is the best policy.”
a) Proper noun b) Abstract noun
¢) Common noun d) Collective noun

Answer: b) Abstract noun
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Which word is a synonym for “angry”?
a) pleased b) joyful
c) furious d) excited

Answer: c) furious

Which of these is a compound word?
a) sunrise b) sun
c) rise d) light

Answer: a) sunrise

Identify the conjunction: “He was tired, yet he finished his work.”
a) he b) was
c) yet d) finished

Answer: c) yet

What is the correct past tense of “swim”?
a) swam b) swimmed
c) swim d) swum

Answer: a) swam

Choose the correct preposition: “We walked ___ the park.”
a)in b) on
c) by d) into

Answer: a) in

Identify the adjective: “The old man sat on the bench.”
a) sat b) old
c) man d) bench

Answer: b) old

. Which sentence is in the present continuous tense?

a) She plays tennis. b) She played tennis.
c) She is playing tennis. d) She has played tennis.
Answer: c) She is playing tennis.

”

Fill in the blank: “We ___ going to the museum tomorrow.
a)is b) are

c) was d) be

Answer: b) are

Choose the correct synonym for “difficult.”
a) easy b) hard
c) simple d) soft

Answer: b) hard

Identify the pronoun: “They went to the market.”
a) they b) went
c) market d) to

Answer: a) they
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What is the plural of “leaf”?

a) leafs b) leavs
c) leaves d) leives
Answer: c) leaves

Choose the correct word: “He is taller ___ his brother.”
a) than b) then
c) that d) when

Answer: a) than

What is the antonym of “friend”?

a) enemy b) stranger

c) neighbor d) companion
Answer: a) enemy

Pick the correct spelling:

a) necessary b) necessary
C) necessary d) necesary
Answer: b) necessary

Choose the correct pronoun: “Thisis ___ book.”
a) mine b) me

c) my d) |

Answer: a) mine

Which sentence is imperative?

a) Please close the window. b) Where is my bag?
c) The window is closed. d) Oh no!

Answer: a) Please close the window.

. Which is a proper noun?

a) city b) country
c¢) London d) place
Answer: c) London

Identify the verb: “The bird flew across the sky.”
a) bird b) flew

c) across d) sky

Answer: b) flew

What is the superlative form of “beautiful”?
a) more beautiful b) most beautiful
c) beautifulest d) beautifuller
Answer: b) most beautiful

14

Choose the correct preposition: “She sat ___ the chair.
a) at b)in

c)on d) by

Answer: c) on
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Choose the sentence with correct punctuation:
a) “Stop”! she shouted. b) “Stop!” she shouted.
c) “Stop” she shouted! d) “Stop!” She shouted.

Answer: b) “Stop!” she shouted.

Fill in the blank: “We have lived here ___ five years.”
a) since b) for
c) from d) till

Answer: b) for

Identify the adverb: “He sings beautifully.”
a) sings b) beautifully
c) he d) none

Answer: b) beautifully

Which is an interrogative sentence?
a) Please help me. b) Will you help me?
c) I need help. d) Help me!

Answer: b) Will you help me?

Pick the correct homophone: “l can __ the music.”
a) hear b) here
c) hare d) heir

Answer: a) hear

. Choose the correct plural: “goose”
a) gooses b) geeses
c) goose d) geese

Answer: d) geese

Which is a collective noun?
a) people b) bunch
c) girl d) friend

Answer: b) bunch

Choose the correct form: “She ___ finished her homework.”

a) have b) has
c) had d)is
Answer: b) has

Identify the preposition: “He jumped over the fence.”
a) he b) over
c) jumped d) fence

Answer: b) over

Pick the correct sentence:
a) The sun rise in east. b) The sun rises in the east.
c) Sun rises in east. d) The sun rise east.

Answer: b) The sun rises in the east.
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What is the plural of “foot”?
a) foots b) feets
c) footes d) feet

Answer: d) feet

Which word is an antonym for “fast”?

a) rapid b) slow

c) quick d) speedy

Answer: b) slow

Choose the correct conjunction: “I stayed at home ___ it was raining.”
a) so b) because

c) but d) or

Answer: b) because

Which word is a verb?
a) teacher b) teach
c) teaching d) taught

Answer: b) teach

Identify the adjective: “The little girl is singing.”
a) little b) girl
c) singing d)is

Answer: a) little

Choose the correct pronoun: “____ went to the park.”
a) Them b) They
c) Their d) Theirs

Answer: b) They

Fill in the blank: “The book is __ the table.”
a)in b) on
c) under d) over

Answer: b) on

Hat a beautiful painting this is!
a) Declarative b) Interrogative
c¢) Imperative d) Exclamatory

Answer: d) Exclamatory
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SST:

Which is the smallest continent by land area?
a) Europe b) Antarctica

c) Australia d) South America
Answer: c) Australia

The Tropic of Cancer passes through which of these Indian states?
a) Kerala b) Gujarat

c¢) Punjab d) Tamil Nadu

Answer: b) Gujarat

Which river is called the “Sorrow of Bengal”?
a) Ganga b) Brahmaputra
c) Damodar d) Hooghly
Answer: c) Damodar

Which soil is most suitable for cotton cultivation?
a) Black soil b) Red soil

c) Alluvial soil d) Laterite soil
Answer: a) Black soil

Which of the following is not a Union Territory of India?
a) Chandigarh b) Delhi

c) Goa d) Puducherry

Answer: c) Goa

Which natural region is known for its evergreen forests?
a) Tundra b) Desert

c¢) Equatorial region d) Taiga

Answer: c) Equatorial region

Which is the largest plateau in the world?

a) Deccan Plateau b) Colorado Plateau

c¢) Tibetan Plateau d) Chotanagpur Plateau
Answer: c) Tibetan Plateau

Which crop requires standing water for cultivation?
a) Wheat b) Rice

c) Cotton d) Maize

Answer: b) Rice

What type of climate does the Thar Desert have?
a) Humid b) Arid

c) Temperate d) Sub-tropical
Answer: b) Arid

Which water body lies to the east of India?
a) Arabian Sea b) Bay of Bengal
¢) Indian Ocean d) Red Sea
Answer: b) Bay of Bengal

The southernmost point of India is:
a) Indira Point b) Kanyakumari
c) Rameswaram d) Port Blair
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Answer: a) Indira Point

Which Indian state is known as the “Land of Five Rivers”?

a) Punjab b) Haryana
c) Bihar d) Rajasthan
Answer: a) Punjab

Which of these is a renewable resource?
a) Petroleum b) Coal

c) Solar energy d) Natural gas
Answer: c) Solar energy

What is the major occupation in villages?
a) Mining b) Fishing

c) Agriculture d) Industry
Answer: c) Agriculture

What causes day and night?

a) Earth’s revolution b) Moon’s movement
c) Earth’s rotation d) Sun’s rotation
Answer: c) Earth’s rotation

What type of vegetation is found in the Himalayas?
a) Grassland b) Thorn bushes

c) Alpine vegetation d) Desert shrubs
Answer: c) Alpine vegetation

The highest peak in the world is:

a) Mount Everest b) Kanchenjunga
c) K2 d) Annapurna
Answer: a) Mount Everest

The Indian Standard Time (IST) is based on which longitude?

a)0° b) 75°E
c) 82.5°E d) 90°E
Answer: c) 82.5°E

Where is the Kaziranga National Park located?
a) Kerala b) Assam

c¢) Rajasthan d) Gujarat
Answer: b) Assam

What is the main reason for soil erosion?
a) Afforestation b) Construction
c) Overgrazing d) Irrigation
Answer: c) Overgrazing

The Peninsular Plateau is rich in:

a) Fossil fuels b) Minerals

c) Soil fertility d) Rainfall
Answer: b) Minerals

Rivers that originate from the Himalayas are called:
a) Seasonal b) Perennial

c) Deltaic d) Inland
Answer: b) Perennial
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Which dam is built on the Narmada River?
a) Bhakra b) Hirakud
c) Sardar Sarovar d) Nagarjuna Sagar

Answer: c) Sardar Sarovar

What is weathering?
a) Planting trees b) Wearing away of rocks
¢) Formation of soil d) Growing crops

Answer: b) Wearing away of rocks

Which of these is not a major landform?
a) Mountain b) Ocean
c) Plateau d) Plain

Answer: b) Ocean

Who was the first Mughal emperor?
a) Akbar b) Babur
¢) Humayun d) Shah Jahan

Answer: b) Babur

Ashoka belonged to which dynasty?
a) Maurya b) Gupta
c) Nanda d) Mughal

Answer: a) Maurya

Who discovered the sea route to India?
a) Columbus b) Marco Polo
c) Vasco da Gama d) Magellan

Answer: c) Vasco da Gama

Which Indian freedom fighter is known as the “Iron Man of India”?
a) Jawaharlal Nehru b) Subhas Chandra Bose

c) Sardar Vallabhbhai Patel d) Bhagat Singh

Answer: c) Sardar Vallabhbhai Patel

Who led the Dandi March?
a) Jawaharlal Nehru b) Gandhiji
c) Lala Lajpat Rai d) Bal Gangadhar Tilak

Answer: b) Gandhiji

Which city is called the “Silicon Valley of India”?
a) Hyderabad b) Pune
c) Bengaluru d) Gurugram

Answer: c) Bengaluru

Which leader gave the slogan “Do or Die”?
a) Mahatma Gandhi b) Jawaharlal Nehru
c¢) Bhagat Singh d) Subhas Chandra Bose

Answer: a) Mahatma Gandhi
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Which is the highest peak in India?
a) Nanda Devi b) Mount Everest
c) Kanchenjunga d) Kamet

Answer: c) Kanchenjunga

Which is the largest state of India by area?
a) Uttar Pradesh b) Rajasthan
¢) Maharashtra d) Madhya Pradesh

Answer: b) Rajasthan

In which year did India gain independence?
a) 1945 b) 1947
c) 1950 d) 1952

Answer: b) 1947

Who wrote the national anthem of India?
a) Rabindranath Tagore b) Bankim Chandra Chatterjee
c¢) Sarojini Naidu d) Subramania Bharati

Answer: a) Rabindranath Tagore

Which state is famous for its tea gardens?
a) Kerala b) Assam
¢) Tamil Nadu d) Maharashtra

Answer: b) Assam

The capital of Andaman and Nicobar Islands is:
a) Port Blair b) Daman
c) Silvassa d) Kavaratti

Answer: a) Port Blair

Which is the largest mosque in India?
a) Jama Masjid, Delhi b) Charminar
¢) Mecca Masjid d) Taj-ul-Masajid

Answer: d) Taj-ul-Masajid

Who was the first Governor-General of independent India?
a) Lord Mountbatten b) C. Rajagopalachari

c¢) Jawaharlal Nehru d) Warren Hastings
Answer: a) Lord Mountbatten

The Jallianwala Bagh massacre happened in which year?
a) 1917 b) 1919
c) 1921 d) 1923

Answer: b) 1919

Which river is known as the 'Dakshin Ganga'?
a) Krishna b) Godavari
c) Narmada d) Kaveri

Answer: b) Godavari
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Which famous leader formed the 'Azad Hind Fau;j'?
a) Mahatma Gandhi b) Subhas Chandra Bose
c¢) Jawaharlal Nehru d) Bhagat Singh

Answer: b) Subhas Chandra Bose

The Tropic of Capricorn passes through which continent?
a) Asia b) Africa
c) Europe d) Australia

Answer: b) Africa

Which is the national aquatic animal of India?
a) Dolphin b) Crocodile
c) Fish d) Tortoise

Answer: a) Dolphin

Which city is famous for the Golden Temple?
a) Ludhiana b) Amritsar
c¢) Jalandhar d) Chandigarh

Answer: b) Amritsar

The national emblem of India has how many lions?
a)2 b) 3
c)4 d)5

Answer: c) 4

What is the time difference between IST and GMT?
a) +4:30 hours b) +5:00 hours
c) +5:30 hours d) +6:00 hours

Answer: c) +5:30 hours

Which mountain range is the oldest in India?
a) Himalayas b) Aravalli
c) Western Ghats d) Satpura

Answer: b) Aravalli

Who gave the slogan “Jai Jawan Jai Kisan”?
a) Lal Bahadur Shastri b) Jawaharlal Nehru
¢) Indira Gandhi d) Sardar Patel

Answer: a) Lal Bahadur Shastri

Which state is called the “Land of Rising Sun” in India?
a) Assam b) Arunachal Pradesh
c) Meghalaya d) Nagaland

Answer: b) Arunachal Pradesh

Which river flows into the Arabian Sea?
a) Ganga b) Brahmaputra
c) Narmada d) Yamuna

Answer: c) Narmada
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The Parliament House in Delhi was designed by:
a) Edwin Lutyens b) Charles Correa
c) Le Corbusier d) Herbert Baker

Answer: d) Herbert Baker

Which leader is known as “Father of the Constitution”?
a) Jawaharlal Nehru b) Dr. B.R. Ambedkar
c) Mahatma Gandhi d) Rajendra Prasad

Answer: b) Dr. B.R. Ambedkar

Which ocean is to the south of India?
a) Pacific Ocean b) Atlantic Ocean
¢) Indian Ocean d) Arctic Ocean

Answer: c) Indian Ocean

Where is the Gateway of India located?
a) Delhi b) Mumbai
¢) Chennai d) Kolkata

Answer: b) Mumbai

The Konark Sun Temple is located in which state?
a) West Bengal b) Odisha
c) Bihar d) Jharkhand

Answer: b) Odisha

Which is the deepest ocean in the world?
a) Atlantic Ocean b) Pacific Ocean
c) Indian Ocean d) Arctic Ocean

Answer: b) Pacific Ocean

Who built the Fatehpur Sikri?
a) Akbar b) Humayun
c) Babur d) Shah Jahan

Answer: a) Akbar

Which country gifted the Statue of Liberty to the USA?

a) Germany b) France
c) Spain d) Italy
Answer: b) France

The Red Fort is located on the banks of which river?
a) Ganga b) Yamuna
c) Saraswati d) Godavari

Answer: b) Yamuna

Which city is known as the “City of Joy”?
a) Chennai b) Kolkata
c) Mumbai d) Delhi
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Answer: b) Kolkata

Who was the first woman governor of an Indian state?
a) Sarojini Naidu b) Indira Gandhi

c) Pratibha Patil d) Sucheta Kripalani
Answer: a) Sarojini Naidu

Which country is India’s neighbor to the east?
a) Pakistan b) Afghanistan
c) Myanmar d) Nepal

Answer: c) Myanmar

Which festival is known as the festival of colors?
a) Diwali b) Holi

c) Eid d) Christmas
Answer: b) Holi

Which Mughal ruler was known as 'Zinda Pir'?
a) Akbar b) Aurangzeb
c) Babur d) Jahangir

Answer: b) Aurangzeb

Which river is called the ‘Sorrow of Bengal’?
a) Ganga b) Damodar
c) Hooghly d) Mahanadi

Answer: b) Damodar

The highest waterfall in India is:
a) Jog Falls b) Kunchikal Falls
¢) Dudhsagar Falls d) Barehipani Falls

Answer: b) Kunchikal Falls

. Which crop is known as 'golden fiber'?
a) Jute b) Cotton
c) Silk d) Wool

Answer: a) Jute

Which Indian monument is one of the Seven Wonders of the World?

a) Qutub Minar b) India Gate
¢) Taj Mahal d) Charminar
Answer: c) Taj Mahal




Logical Reasoning:

1. Find the missing number: 5, 11, 23, 47, ?
a) 95 b) 94
c) 92 d) 90
Answer: a) 95

2. Which word does NOT belong to the group?
a) Rose b) Lotus
c) Sunflower d) Mango
Answer: d) Mango

3. Which number comes next in the pattern: 2, 4, 8, 16, ?
a) 20 b) 24
c) 32 d) 18
Answer: c) 32
4. Ifinacode, CAT = DBU, then DOG =?
a) EPH b) ENH

c) DPH d) EOG
Answer: a) EPH

5. Which one is different from others?

a) 2 b) 3
c)5 d)9
Answer: d) 9
6. Arrange: Shirt, Tie, Shoes, Trousers (to wear order):
a) Tie, Shirt, Trousers, Shoes b) Shirt, Tie, Trousers, Shoes
c) Shirt, Trousers, Tie, Shoes d) Tie, Trousers, Shirt, Shoes

Answer: b) Shirt, Tie, Trousers, Shoes

7. What is the odd one out?
a) Circle b) Triangle
c) Cube d) Square
Answer: c) Cube

8. If ‘'STAR’ = ‘TUBS’, then ‘MOON’ = ?
a) NPPQ b) NPPM
c) NPPN d) NPPR
Answer: a) NPPQ

9. Find the next letter: D, G, J, M, ?
a)P b) Q
c)O d)R
Answer: a) P

10. If B=2, DOG=4+15+7=26, then CAT="?
a) 24 b) 23
c) 25 d) 26
Answer: a) 24

11. Rahul is 15th from the left, and 10th from the right. How many students are there?

a) 24 b) 25
c) 26 d) 27
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Answer: b) 24

A clock shows 3:15. What is the angle between hour and minute hand?
a)0° b) 7.5°

c) 30° d) 45°

Answer: d) 7.5°

Which number is missing: 7, 14, 28, 56, ?
a) 100 b) 108
c) 112 d) 120

Answer: c) 112

What comes next: AZ, BY, CX, ?
a) bV b) DW
c)DU d) DZ

Answer: b) DW

If 2x + 3 =11, find x.
a)2 b) 3
c)4 d)5

Answer: c) 4

The day after tomorrow is Thursday. What day was yesterday?
a) Sunday b) Monday
c) Tuesday d) Wednesday

Answer: a) Sunday

What comes next in the series: 1, 4, 9, 16, ?
a) 20 b) 25

c) 30 d) 36

Answer: b) 25

If 1 apple = 3 oranges, 3 oranges = 2 bananas, how many apples = 4 bananas?
a)2 b) 3

c)4 d) 6

Answer: d) 6

Complete: 6, 11, 21, 41, ?

a) 81 b) 61

c)51 d)71

Answer: a) 81

Which number replaces the question mark?
6x3=27,

8 x4 =48,

10x5=7?

a) 60 b) 70

c) 75 d) 80

Answer: c) 75
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Which is different: Eagle, Owl, Parrot, Bat?
Answer: d) Bat (Bat is a mammal)

If ALL = 25, BAT =23, CAT =7
a) 21 b) 19
c) 18 d) 20

Answer: a) 21

In a row, A is 5th from left, B is 6th from right, and there are 10 students between them. How many
students in total?

a) 20 b) 21

c) 22 d) 23

Answer: d) 21

Complete: 1, 2,6, 24,7
a) 60 b) 96
c) 120 d) 144

Answer: c) 120

How many 3-digit numbers can be formed using digits 1, 2, 3 without repetition?
a)3 b) 6

c)9 d) 12

Answer: b) 6

If BOX = CPY, then CAT =7

a) DBU b) DAU

c) DBV d) CAV

Answer: a) DBU

Pointing to a photo, Neha said, “He is the son of my mother’s only son.” How is he related to Neha?

a) Father b) Son
c) Brother d) Nephew
Answer: b) Son

If you rearrange ‘TEACHER’, you get the name of a:
a) City b) Profession
¢) Animal d) Fruit

Answer: b) Profession

Find the odd one: 125, 64, 27, 16, 8
Answer: 16 (Others are cube numbers)

A man walks 3 km north, 4 km east, then 3 km south. How far is he from start?
a) 3 km b) 4 km
c) 5 km d) 7 km

Answer: b) 4 km

If SCHOOL = 72, then CLASS = ?
a) 55 b) 60
c) 61 d) 62

Answer: b) 60

Which number is missing? 3, 6, 11, 18, ?
a) 25 b) 27

c) 29 d) 30
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Answer: c) 29

Ravi’s uncle is the father of Rohan’s sister. How is Rohan related to Ravi?
a) Brother b) Cousin

c) Nephew d) Uncle

Answer: b) Cousin

Which pair is odd?
a) Dog — Puppy b) Cat - Kitten
c) Cow — Calf d) Hen - Chick

Answer: d) Hen - Chick (others are mammals)

What comes next: 100, 97, 91, 82, ?
a) 70 b) 72
c)71 d) 74

Answer: b) 72

If TABLE is coded as 81, and CHAIR is coded as 52, then SHELF = ?
a) 66 b) 68

c) 70 d) 72

Answer: d) 72

If SISTER is coded as RHRSDQ, then BROTHER = ?
a) AQNSGDS b) AQNSFDS
c) AQNSFDR d) AQNTFDS

Answer: b) AQNSFDS

Pointing to a lady, Amit said: "She is the daughter of my grandfather’s only son." How is she related to
Amit?

a) Sister b) Mother

c) Aunt d) Cousin

Answer: a) Sister

If FRUIT is coded as GSVIU, then BREAD = ?
a) CSFBE b) CSFAD

c) CSFBD d) CSGAD
Answer: a) CSFBE

. Which number will replace ?:
9x3=36
8x4=40
7x5=7
a) 42 b) 48
c) 45 d) 44

Answer: d) 44

Which is the odd one out?
a) July b) March
c) October d) Sunday

Answer: d) Sunday
If CIRCLE = 36, SQUARE =49, TRIANGLE =?

a)42 b) 45
c) 48 d) 50
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Answer: c) 48

Which letter comes next: A, D, G, J, ?
a)jM b) L
c)K d)N

Answer: a) M

If 4 pencils =X12, how much for 10 pencils?
a) X24 b) X28

c) X30 d) %32
Answer: c) 330

Complete the series: 81, 64, 49, 36, ?
a) 30 b) 27
c) 25 d) 20

Answer: c) 25

If DEER is coded as EFES, then LION is coded as ?
a) MJPO b) MJPP
c) MKOP d) MJOO

Answer: b) MJPP

Find the odd pair:

a) Apple — Fruit b) Carrot - Vegetable
c) Rose — Flower d) Dog - Herb
Answer: d) Dog — Herb

Which number completes the pattern: 1, 3, 7, 15, 31, ?
a) 60 b) 63
c) 62 d) 65

Answer: b) 63

If Monday is coded as 1, Wednesday as 3, then Friday = ?
a)d b) 5

c)6 d)7

Answer: b) 5

What is the mirror image of 7:45?

a) 4:15 b) 5:15

¢) 5:45 d) 6:15

Answer: a) 4:15

What comes next: 4, 9, 16, 25, ?
a) 36 b) 35
c) 40 d) 45

Answer: a) 36

If 3 boys = 6 mangoes, 6 boys =?
a) 10 b) 12
c)14 d) 15

Answer: b) 12

If PEN = 35, INK = 30, then BOOK = ?
a) 45 b) 50
c) 55 d) 60

Answer: b) 50
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Which shape has 5 sides?

a) Triangle
c) Hexagon
Answer: b) Pentagon

Pointing to a photo: “She is my mother’s only son’s daughter.” Who is she?

a) Sister
c) Daughter
Answer: c) Daughter

b) Pentagon
d) Octagon

b) Niece
d) Cousin

If COUNTRY =98, STATE = 65, CITY =?

a) 45
c) 44
Answer: c) 44

b) 43
d) 42

What comes next: 2, 6, 12, 20, ?

a) 28
c) 32
Answer: a) 30

Find the odd one:
a) Elephant

c) Tiger

Answer: d) Whale

If 1 teacher teaches 20 students, how many teachers for 100 students?

a)2
c)4
Answer: d) 5

b) 30
d) 34

b) Lion
d) Whale

b) 3
d)5

If8x2=18,9%x3=36,then7x4="

a) 28
c)34
Answer: c) 34

Complete the analogy: Book : Reading :: Fork : ?

a) Drawing
c) Eating
Answer: c) Eating

b) 32
d) 36

b) Writing
d) Cooking

If GO = 22, STOP =58, then WAIT =7

a) 55
c)57
Answer: c) 57

Which number completes the series: 2, 5, 10, 17, ?

a) 24
c) 28
Answer: b) 26

If CHAIR is coded as DIIBS, then TABLE = ?

a) UBCMF
c) UBCMG
Answer: a) UBCMF

b) 56
d) 58

b) 26
d) 30

b) UBCLF
d) UBCLG
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Which is different: Football, Cricket, Chess, Hockey?

Answer: Chess (others are outdoor sports)

A man walks 4 km north, 3 km east, then 4 km south. How far is he from start?

a) 3 km
c) 5 km
Answer: a) 3 km

b) 4 km
d) 7 km

If4+3=28,5+4=45then6+5="

a) 56
c) 66
Answer: a) 56

Which one doesn’t belong?
a) January

c) May

Answer: d) Sunday

b) 65
d) 72

b) March
d) Sunday

If6x2=14,7%x3=24,then8x4="

a) 32
c) 36
Answer: b) 34

b) 34
d) 38

If MANGO is coded as NZOHQ, then APPLE =7
a) BQOMF b) BQONF
c) BQPMF d) BQPLF

Answer: a) BQQMF

What comes next: 1, 4, 9, 16, 25, ?
a) 30 b) 36
c) 49 d) 42

Answer: b) 36

If ROSE is coded as 23, and LOTUS is coded as 32, then LILY = ?

a) 34
c) 25
Answer: d) 26

b) 28
d) 26

Which figure willcome next? 4 , @, o , @, 4 ,?
a) @ b) 4

c) d) @

Answer: a) @

Ais taller than B but shorter than C. D is taller than C. Who is tallest?
a)A b) B

c)C d)D

Answer: d) D

Find the odd one out:

a) Car b) Bus

¢) Train d) Road

Answer: d) Road
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